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Unit 2 Homework

Natures Chemistry

Alcohols, Carboxylic Acids and Esters

1. Write the general formula for the alkanols.

CnH2n+1OH
2.  Draw the structural formulae for each of the following alcohols and state whether the alcohol is

     a primary, secondary or tertiary alcohol.


a)  Pentan-3-ol.


b)  2-methylbutan-1-ol

c)  3-ethylpentan-3-ol.



     Secondary


     primary



     tertiary
3.  What is meant by a hydroxyl group?

A functional group that consists of –OH
4.  Compound X is a secondary alcohol.
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(a) 
Name compound X.



Butan-2-ol

(b)
Draw a structural formula for the tertiary alcohol that is an isomer of compound X.



2-methylpropan-2-ol
5. The dehydration of butan-2-ol can form two different isomers of butene.


a)  Draw a diagram of the apparatus you could use in the laboratory to bring about the 


     dehydration of butan-2-ol.  Name any chemicals used.
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b)  What is meant by the term ‘dehydration’?



Removal if a water molecule.

c)  Draw and name the structures of the two butene isomers formed.


But-1-ene and But-2-ene.

d)  An isomer of butan-2-ol gives only one product on dehydration.  Name this isomer.



2-methylpropanol
6.  Write the general formula for the alkanoic acids.


CnH2n+1COOH
7. Name and draw the functional group found in all carboxylic acids.

Carboxyl group -COOH
8.  Draw the structural formulae for the following carboxylic acids:


a)  Pentanoic acid

b) 2-methylpropanoic acid

c) Benzoic acid

Full or shortened structural formula of each molecule.
9.  Which two types of chemicals react together to produce an ester?


Carboxylic acid and alcohol
[image: image14.emf]10.  Copy the chemical structure shown below and circle the ester link.
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11.  Name and draw the structural formula of the ester formed when each of the following chemicals reacts together.


a) ethanol and methanoic acid

b) methanol and propanoic acid



[image: image16.emf]

ethyl methanoate



methyl propanoate
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c) butanoic acid and pentanol

d) ethanoic acid and propanol
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pentyl butanoate



propyl ethanoate
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12.
Which of the following consumer products is least likely to contain esters?


A  flavourings


B  perfumes


C  solvents


D  toothpastes
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13.  Which of the following is an ester?

14.  When propanoic acid is reacted with ethanol, one of the products is,
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15.
Rum flavouring is based on a compound with the formula shown,
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It can be made from

A  ethanol and butanoic acid


B  propanol and ethanoic acid


C  butanol and methanoic acid


D  propanol and propanoic acid

16.
Aspirin is one of the most widely used pain relievers in the world. It has the structure,

[image: image3.jpg]I
C—0O0-—H

O—C—C—H
..
O - H





Which two functional groups are present in an aspirin molecule?


A  hydroxyl and carbonyl


B  aldehyde and ketone


C  carboxyl and ester


D  ester and aldehyde

17. Give three uses of esters.

Flavourings, perfumes and solvents
18.  A pupil made the ester ethyl propanoate in a test tube and poured the reaction mixture into a 
      beaker containing sodium hydrogen-carbonate solution.


a)  Name the acid and alcohol used to make the ester.




Ethanol and propanoic acid

b)  What two things would the pupil observe when the ester is poured into the sodium 

     hydrogen- carbonate solution?


     

A layer will form on top of the aqueous layer as esters are insoluble in water.


A scent will be produced.

c)  The pupil heated the reaction mixture using a hot water bath.  Why was the reaction

     mixture not heated directly with a Bunsen flame?




As the alcohol is highly flammable.

19.
One of the chemicals released in a bee sting is an ester that has the structure shown.
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This ester can be produced by the reaction of an alcohol with an alkanoic acid.


(a) Name this acid.
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Ethanoic acid

(b) The ester can be prepared in the lab by
                heating a mixture of the reactants with

       
      a catalyst.






(i) Name the catalyst used in the reaction.

Concentrated sulfuric acid



(ii) What improvement could be made to the experimental setup shown in the above diagram?



Add a wet paper towel condenser to the top of the test tube to minimise loss of reactants and maximise yield.




20.
The compound diazomethane undergoes an unusual reaction called insertion. 


Under certain conditions, the CH2 group produced can insert itself into any bond which 
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includes an atom of hydrogen.


Nitrogen is produced in every reaction.
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One of the products for the reaction of diazomethane with ethanol is shown below.

(a) Name the product shown.




Propan-1-ol





(b) Draw the full structural formula for the other two organic products which could be formed in this reaction.
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Methoxyethane and propan-2-ol. 

Fats, Oils and Soaps

1.
Fats and oils can be classified as

A  soaps


B  fatty acids


C  esters


D  polyesters

2.
Which of the following decolourises bromine water least successfully?

A  palm oil


B  hex-1-ene


C  cod liver oil


D  mutton fat

3.
In the formation of “hardened” fats from vegetable oils, the hydrogen

A  causes cross-linking between the chains


B  causes hydrolysis to occur


C  increases the carbon chain length


D  reduces the number of carbon to carbon double bonds.

4. 
The structural formula for glycerol is
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5.
The production of fatty acids and glycerol from fats in foods is an example of

A  hydrolysis


B  hydrogenation


C  dehydration


D  dehydrogenation

6.
Explain, in terms of structure, why fats are solids and oils are liquids at room temperature.   
Fats are more saturated and therefore can pack together more closely which increases the number of the intramolecular forces between molecules of fat. This then increases the energy required to ‘melt’ the fat as there are more forces to overcome. Oils have a greater degree of unsaturation which means they cannot pack closely together which reduces the intramolecular forces between molecules. This reduction in intramolecular forces means that less energy is required to ‘melt’ oils and so they will be in liquid form at room temperature.
7.
Foodstuffs have labels that list ingredients and provide nutritional information.


The label on a tub of margarine lists hydrogenated vegetable oils as one of the ingredients.


Why have some of the vegetable oils in this product been hydrogenated? 

To reduce the degree of unsaturation and allow closer packing of molecules which will increase the intramolecular forces in the oil and therefore cause it to solidify at room temperature which will allow it to be used as a margarine spread.
8.  
a)  Draw the extended structural formula for a molecule of glycerol.
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b) What is the systematic name for a molecule of glycerol.


Propan-1,2,3-triol

c)  Explain why fats are sometimes referred to as triglycerides
All fats are derivatives of fatty acids and glycerol. The fat molecules are called triglycerides (triesters of glycerol). Three chains of fatty acid are bonded to each of the three -OH groups of the glycerol by the reaction of the carboxyl end of the fatty acid (-COOH) with the alcohol.

d) What do you understand by the term ‘fatty acid’?  





A carboxylic acid consisting of a hydrocarbon chain and a terminal carboxyl group, especially any of those occurring as esters in fats and oils.
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9. 
The structure of a fat molecule is shown below.


(a) When the fat is hydrolysed, a fatty acid is obtained. Name the other product obtained in

     this reaction. 

Glycerol

(b) Oils are liquid at room temperature; fats are solid.  Why do oils have lower melting
  
     points than fats?

Fats are more saturated and therefore can pack together more closely which increases the number of the intramolecular forces between molecules of fat. This then increases the energy required to ‘melt’ the fat as there are more forces to overcome. Oils have a greater degree of unsaturation which means they cannot pack closely together which reduces the intramolecular forces between molecules. This reduction in intramolecular forces means that less energy is required to ‘melt’ oils and so they will be in liquid form at room temperature.
10.
Mutton fat contains a compound called as tristearin.
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Tristearin is hydrolysed in the body during digestion by an enzyme known as lipase.


(a) Give one reason why fats can be a useful part of a balanced diet.


Fats are used to store energy and provide insulation.

(b) To which set of compounds do enzymes belong?





Catalysts

(c) The hydrolysis of tristearin produces a fatty acid. 

      Name the other product of the reaction.





Glycerol

11. Chemists have developed cheeses specifically for use in cheeseburgers.

(a) When ordinary cheddar cheese is grilled the shapes of the protein molecules change and

     the proteins and fats separate leaving a chewy solid and an oily liquid.


     What name is given to the change in protein structure which occurs when ordinary 

     cheddar is grilled?


Denatured

(b) To make cheese for burgers, grated cheddar cheese, soluble milk proteins and some 
  


     water are mixed and heated to no more than 82 °C. As the cheese begins to melt an 

     emulsifying agent is added and the mixture is stirred.


(i) Why would a water bath be used to heat the mixture?  




To allow for better control of the temperature.


(ii) A section of the structure of a soluble milk protein is shown below.
[image: image34.png]





     Draw a structural formula for any one of the amino acids formed when this section 


     of protein is hydrolysed.
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(iii) The emulsifier used is trisodium citrate, a salt formed when citric acid is 



      neutralised using sodium hydroxide.



      Copy and complete the equation below showing a structural formula for the


      trisodium citrate formed.
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12. The hydrolysis of a fat produces glycerol and fatty acids.   

  
a)  What does the term hydrolysis mean? 


A large molecule is split into two smaller molecules by reaction with water.

b) State the ratio of glycerol molecules to fatty acid molecules.


1 glycerol : 3 fatty acids
  
  c) A triglyceride produces only glycerol and palmitic acid, CH3(CH2)14COOH, on hydrolysis.

    

 i) Draw the structural formula for the triglyceride.

[image: image41.png]CH, O
|
H,C—(CH,)—(—C—H

H




  

ii) Explain whether the triglyceride is likely to be a fat or an oil. 
A fat as it is saturated and therefore can pack closely and so there are more intramolecular forces that require a higher energy (temperature) to overcome and ‘melt’ the compound.
13. Explain why edible oils are sometimes used as lubricants for farm machinery.

More environmentally friendly lubricants.
14.  Explain what is meant by the terms 
a) hydrophilic

b) hydrophobic.

a) ‘water loving’ or will dissolve in water
b) ‘water hating’ or will not dissolve in water
15.  Describe how soap can clean a fat stain from clothing.  You should use the following words in

       your answer:

ionic head      covalent tail      hydrophobic     hydrophilic     polar     non-polar

Each soap molecule consists of a long non-polar covalent hydrocarbon ‘tail’ and a polar, ionic ‘head’ where the charge is. This structure explains the cleansing action of soap as the non-polar ‘tail’ dissolves in non-polar substances such as grease while the polar ‘head’ will not.

The non-polar tail of the molecule can be called hydrophobic as it is repelled by water.

However, the polar, ionic head is hydrophilic and does dissolve in polar solvents such as water.

Once scrubbed or mixed properly, the grease is broken up into droplets and held in suspension in the water by the repulsion of the negatively charged ionic heads.
16.  Soap can be produced by the reaction of fats and oils with sodium hydroxide solution.
    a) Name the kind of reaction that is taking place. 

Hydrolysis 
    b)  Describe the structure of soap 
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Each soap molecule consists of a long non-polar covalent hydrocarbon ‘tail’ and a polar, ionic ‘head’ where the charge is. The non-polar tail of the molecule can be called hydrophobic as it is repelled by water.

However, the polar, ionic head is hydrophilic and does dissolve in polar solvents such as water.

17.  Small children can find it difficult to swallow tablets or pills so ibuprofen is supplied as an
      “infant formula” emulsion.
       The emulsifier used is polysorbate 80. Its structure is shown below.
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      Explain why this molecule acts as an emulsifier.
The hydroxyl groups are hydrophilic, whilst fatty acid chains are hydrophobic. An emulsion is made up of 2 substances that won’t mix well. The hydrophilic part of the emulsifier dissolves in the aqueous part of the mixture and the hydrophobic part dissolves in the non-aqueous part of the mixture. This causes a suspension of particles to form that allows the 2 substances to mix.
This results in polysorbate 80 being a very effective emulsifier.
Proteins

1.  Describe two reasons why we need protein in our diet.


Growth and repair.
2.  What four elements are present in proteins?


Oxygen, nitrogen, carbon and hydrogen.
3.  Copy and complete the table giving details of proteins found in the human body.

	Name of protein
	Where found
	Function

	Keratin
	Hair, skin and nails
	Structural support

	Insulin
	Pancreas
	Controls blood glucose

	Haemoglobin
	Red blood cells
	Transports oxygen around the body

	Amylase
	Saliva and pancreas
	An enzyme which breaks down starch

	Collagen
	Tendons, muscle and bones
	Structural support

	Myosin
	Muscles
	Helps muscles to contract

	Immunoglobins
	Blood, tears, saliva, skin
	Fight infection


4.  What is meant by the term essential amino acids?
They are amino acids that cannot be made by the human body and so must be consumed in our diet.
5.  When amino acids join together to form a protein molecule, what other chemical is produced?


Water 
6.  On complete hydrolysis, a peptide produced 5 amino acids represented by the letters

     P, Q, R, S and T. The following fragments were produced on partial hydrolysis.
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Peptide
partial hydrolysis

TS +  QP  +  RT  +  SQ

     Which one of the sequences below could be the correct one for the arrangement of amino acids 
     in the peptide?
A  P-T-S-Q-R

B  R-T-S-P-Q

C  Q-P-T-S-R

D  R-T-S-Q-P

7.  Which of the following must contain nitrogen?

A  an enzyme


B  an oil


C  a polyester


D  a carbohydrate

8.  Proteins can be denatured under acid conditions. During this denaturing, the protein molecule

A  changes shape


B  is dehydrated


C  is neutralised


D  is polymerised

9.  When two amino acids condense together, water is eliminated and a peptide link is formed.

     Which of the following represents this process?
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10.  Some amino acids are called α(alpha) amino acids because the amino is on the carbon atom 

       next to the acid group.

       Which of the following is an α(alpha) amino acid?

[image: image47.jpg]Bunsen valve fits
here if desired





[image: image48.png]



11.  The following is part of a protein molecule (the bond angles are not correctly shown).
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a)  Draw the extended structural formula of two amino acids obtained on hydrolysis of this
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     protein.
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b)  Draw an amide link.

12. An enzyme found in potatoes can catalyse the decomposition of hydrogen 
peroxide.
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     The rate of the decomposition of hydrogen peroxide can be studied using the[image: image54.png]NaO (0]
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 (a)  Describe how this apparatus can be used to investigate the effect of temperature on the
       rate of decomposition of hydrogen peroxide.

By collecting the gas produced in a measuring cylinder by displacement of water, the gas volume can be recorded at regular time intervals and used to calculate the average rate. The temperature of the reaction mixture can be varied by using a water bath.
 (b)  The graph shows how the rate of the enzyme catalysed reaction changes with temperature.
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Why does the reaction rate decrease above the optimum temperature of 40 "C?

An enzyme’s effectiveness as a catalyst is optimal at ~37°C and so the rate peaks at this temperature. Above this temperature the enzyme is denatured as the hydrogen bonds are broken and so the molecule changes shape and loses its functionality.

13.  Examine the graphs below.
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a) Which graph is likely to represent the results from a series of reactions using an enzyme?   

   
    Explain your answer
B – as the maximum rate is at ~37°C which shows that the enzyme is denatured above this temperature and therefore must be a biological catalyst.

b) To which family of compounds do enzymes belong?


Catalysts

c) Name the four elements which must be present in all enzyme molecules. 


Nitrogen, hydrogen, carbon and oxygen
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14. Glycine is an amino acid with the following structure.


a)  Draw the structure of part of the polymer chain that would be formed when three glycine
[image: image58.png]



     molecules polymerise.

b) What type of polymerisation process is taking place?



Condensation polymerisation
The Chemistry of Cooking and Oxidation of Food

1.
What is the general formula for aldehydes and ketones?


CnH2n+1CHO
2.
What is the name of the functional group found in aldehydes and ketones?


Carbonyl
[image: image59.png]
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3.
 Which of the following is an aldehyde?

4.
Which is true of a compound with the following formula?




CH3CH(OH)CH3


A  It is a primary alcohol


B  It can be oxidised to an aldehyde


C  It is a tertiary alcohol


D  It can be oxidised to a ketone.

5.
Which process is used to convert methanol to methanal?

A  oxidation

B  condensation

C  hydration

D  hydrogenation

6.
Which of the following alcohols can be oxidised to give a ketone?


A  2-methylbutan-1-ol


B  2,3-dimethylpentan-1-ol


C  3-methylbutan-2-ol


D  2-methylbutan-2-ol

7.
Ethanol vapour is passed over hot aluminium oxide.


What kind of reaction occurs?


A  Hydrogenation


B  Dehydration


C  Hydrolysis


D  Dehydrogenation

[image: image61.png]I—0—T
—0

I—0—T



8.
After heating for several minutes as shown in 
the diagram, the pH indicator solution turned 
red. Liquid Q could be

A  propanone


B  paraffin


C  butan-1-ol


D  butan-2-ol

9.
What compound is formed by the oxidation of propan-2-ol?


A  CH3CH2CHO


B  CH3CO CH3


C  CH3CH2COOH


D  CH3CH2 CH2OH

10. 
During oxidation, what happens to the ratio of O:H atoms in a hydrocarbon?

There is an increase in the O:H ratio.
11.   
Two compounds A and B, both have the formula C4H8O.  They were both mixed separately 


with Fehling’s solution and the mixtures warmed in a water bath.  Only compound B gave an 

orange-red precipitate.


a)  Name compounds A and B.


A – Butanone B - Butanal

b)  Draw the extended structural formulae of A and B.
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c)  Name another reagent which could also be used to show the difference between 
compound A and B and say what would happen when this reagent is reacted with A and B.

Acidified potassium dichromate solution would change from orange to blue-green when reacted with compound B (aldehyde).
Tollens’ reagent would change from colourless to silver when reacted with compound B (aldehyde).
	A    CH3CH2OH
	B    CH3CHOHCH3

	C    CH3CH2COOH

	D    CH3COCH3
	E    CH3CH2CHO

	F    CH3COOH


 12.





Which box, or boxes, show(s) a substance which


a)  can be oxidised to an alkanal (aldehyde)?



A

b)  is an alkanone (ketone)?






D

c)  is an alkanoic (carboxylic) acid?





C and F

d)  is a primary alcohol?




A

e)  can be formed by the oxidation of B?


D

13.  Propan-1-ol, can be oxidised by passing the alcohol vapour over hot copper(II) oxide.

a)  Draw a labelled diagram of the apparatus that would be used to carry out this 
   


     experiment in the laboratory.

[image: image62.emf]

b)  Oxidation of propan-1-ol yields a compound X, formula C3H6O, which can be further 

     oxidised to compound Y, formula C3H6O2.
 

i)   Name and draw the structure of compound X.




Propanal
 

ii)  Name and draw the structure of compound Y.








Propanoic acid

c)  Name two other oxidising agents which could be used to carry out the oxidation.

    

Tollens’ reagent, acidified potassium dichromate and fehling’s solution

d) If propan-2-ol was used in place of propan-1-ol there would be only one oxidation 


    product.  Name and draw the structure of this product.








Propanone







14.  "Self-test" kits can be used to check the quantity of alcohol present in a person's
breath.
       The person blows through a glass tube until a plastic bag at the end is completely
filled.

[image: image8.emf]


      The tube contains orange acidified potassium dichromate crystals that turn green when they 
      react with ethanol. The chemical reaction causing the colour change is:




      The more ethanol present in the person's breath, the further along the tube the green colour 
      travels.


a) What is the purpose of the plastic bag?



To allow any unreacted ethanol in the breath to be passed back over the crystals.

b) Why are the potassium dichromate crystals acidified?



To provide a source of hydrogen ions.

c) Name a carbon compound formed by the reaction of ethanol with acidified potassium

    dichromate crystals.



Ethanal or ethanoic acid.
15.
Propanone is a widely used solvent. It can be made from propene.


Using full structural formulae show the steps involved in this preparation and name the reagent used in each step.







16.
Alkanols can be oxidised to alkanoic acids.


CH3CH2CH2OH      step 1

CH3CH2CHO
  step 2

CH3CH2COOH

 
 Propan-1-ol



propanal


propanoic acid


(a) Why can step 1 be described as an oxidation reaction?



The O:H ratio has increased.


(b) Acidified potassium dichromate solution can be used to oxidise propanal in step 2 . What 
     colour change would be observed in this reaction?

 



Orange to blue-green
17.
Butan – 2-ol reacts in different ways









dehydration







butan-2-ol




oxidation



condensation with









ethanoic acid




butanone

(a) Name the two products formed by the dehydration of butan-2-ol.


But-1-ene and but-2-ene
(b) Name a reagent which could be used to oxidise butan-2-ol to butanone.


hot copper oxide, tollens’ reagent, fehling’s solution or acidified potassium dichromate
18.
Two reactions involving a carbon compound, A, are shown.


(a) Name compound A.

Butan-2-ol
(b) Draw a structural formula for compound B.
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(c) Name a substance used to convert compound A into but-2-ene and but-1-ene. 
Concentrated sulfuric acid
19. 
Give 3 ways that fatty foods are affected when they react with oxygen.


They become rancid, discolour and lose their flavour.
20. 
Why are antioxidants added to foods?


To prevent the oxidation of food molecules.
21.  
What is meant by a free radical?

A free radical is a highly reactive atom with an unpaired electron.
22.
Give the names of 3 natural antioxidants and state which foods they are found in.


Vitamin C (ascorbic acid) – orange juice, lemon juice, lime juice etc.
23.  
Describe how orange juice can stop apples from going brown after they have been cut.
Orange juice contains vitamin C which is an antioxidant. The vitamin C will readily undergo oxidation and save the apple from becoming oxidized.
24.
Apples and bananas turn brown when cut or bruised. The first step of the reaction causing

the browning is shown below.



What type of reaction is this?

Oxidation 
25. 
A student closed his eyes and held his nose.  Another pupil gave him a teaspoon of 


strawberry jam to eat.  Explain why the student could tell that the food was sweet, but not 


what the actual flavor was.

Tasting a food involves smelling the flavour molecules too. If your nose is being held you are unable to smell the volatile flavour molecules and therefore cannot distinguish actual flavours.
26.
Explain why broccoli should be cooked in water but asparagus should be cooked in oil.
Broccoli flavour molecules are oil soluble and so are therefore less likely to escape when cooked in water. However, asparagus flavour molecules are water soluble and are therefore better preserved when cooked in oil.
Fragrances

1.  Which unit makes up every terpene?

isoprene
2.  How many carbons there are in an isoprene unit?

5
3.  What is the systematic name for isoprene?

2-methylbuta-1,3-diene
4.  What is an oxidised terpene known as?

terpinene
5.  Give 3 uses of essential oils.

Perfumes, deodorants, cosmetics, cleaning products.
6.  Two typical compounds that are present in many perfumes are shown.



(a) Why does geraniol evaporate more slowly than limonene?
Geraniol contains a hydroxyl group that allows hydrogen bonding to occur which increases the size of the intramolecular forces and therefore the energy required to break these bonds and cause geraniol to evaporate. 

(b) The structure of one of the first synthetic scents used in perfume is shown below.



(i) Name the family of carbonyl compounds to which this synthetic scent belongs.


Aldehydes 

(ii) Copy and complete the structure below to show the product formed when this scent


      is oxidised.


7.  A team of chemists are developing a fragrance for use in a shower gel for men.


(a) To give the gel a fruity smell the chemists are considering adding an ester.

   
     They synthesise six isomeric esters. Volunteers smell each ester and give it a rating out

     of one hundred depending on how fruity the smell is.


(i) Name the ester with the fruit-smell rating of 92.


Butyl propanoate

(ii) Shown below are the structures of three more isomers.
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    Put these esters in order of decreasing fruit-smell rating.


B > A > C

(b) To create a fragrance for men, the compound civetone is added.

    Draw a structural formula for the alcohol that can be oxidised to form civetone.



(c) To make the shower gel produce a cold, tingling sensation when applied to the skin, 
   


     menthol is added.


     Like terpenes, menthol is formed from isoprene (2-methylbuta-1,3-diene).


     Copy the diagram of the structure of menthol below and circle an isoprene unit.


Skin Care

1.  What are the three steps for the reaction between alkanes and halogens?


Initiation, propagation and termination 
2.  Write out each of the three steps for the reaction between fluorine gas and ethane under the

     action of UV light.



3.  What is meant by a free-radical scavenger?


Compounds that combine with free radicals to form stable molecules.
4. Suncreams contain antioxidants.


(a) The antioxidant, compound A, can prevent damage to skin by reacting with free radicals 

      such as NO2•.


Why can compound A be described as a free radical scavenger in the reaction shown above?


It combines with the free radical compound NO2· to form a stable molecule.

(b) Another antioxidant used in skin care products is vitamin C, C6H8O6.



Copy and complete the ion-electron equation for the oxidation of vitamin C.
Open Ended Questions
1.  A student makes the following statement:

‘Sugar can be used to produce alcohol, a carboxylic acid and the ester ethyl ethanoate’ 

Using your knowledge of chemistry, comment on the accuracy of the student’s statement.

2.  Aspirin is a widely used medicine. It is advised that it is stored in dry, cool conditions.
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Using your knowledge of chemistry, comment on the reasons why aspirin should be stored under these conditions.

3.  To improve the shelf-life of foods, food manufacturers use several methods to remove oxygen
     from inside the food packaging. In one method, an enzyme is added which catalyses a reaction
     between oxygen and glucose present in the foods.


    Using your knowledge of Chemistry, comment on why this method may not be suitable to
    improve the shelf-life for all foods.
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